

#### REPUBLIC OF THE PHILIPPINES Department Of Health



#### National Center for Mental Health

#### LIST OF ITEMS FOR PUBLIC BIDDING **MEDICAL SUPPLIES AND DEVICES CY 2023**

ITEM CODE		QUANTITY	UOM	UNIT PRICE	TOTAL PRICE
OR MEDICAL			•		TOTAL PRICE
MSMD-001	Hypochlorous Acid + Sodium Hypochlorite, 1000mL (with at least 24 months expiration).	60	bottle	2,100.00	126,000.00
MSMD-002	Antimicrobial Dressing 1" Disk, 4mm, Sterile, Latex free. Chlorhexidine Topical - (for the skin) is used to clean the skin to prevent infection that may be caused by surgery, injection, or skin injury. Disk Applications: Central Venous Catheters, Dialysis Catheters, Arterial Catheters, PICC Lines, Peripheral IVs, Epidural Catheters, Implanted Venous Ports, Drains. (with at least 24 months expiration).	120	piece		
MSMD-003	Curved Reinforced Endotracheal Tube, Oral/Nasal, Murphy Eye, High Volume, Low Pressure Cuff, sterile, size 6.0 (with at least 24 months expiration).	10	piece	710.00	85,200.00
MSMD-004	Curved Reinforced Endotracheal Tube, Oral/Nasal, Murphy Eye, High Volume, Low Pressure Cuff, sterile, size 6.5 (with at least 24 months expiration).	10	piece	1,900.00	19,000.00
MSMD-005	Curved Reinforced Endotracheal Tube, Oral/Nasal, Murphy Eye, High Volume, Low Pressure Cuff, sterile, size 7.0 (with at least 24 months expiration).	25	piece	1,900.00	19,000.00
MSMD-006	Curved Reinforced Endotracheal Tube, Oral/Nasal, Murphy Eye, High Volume, Low Pressure Cuff, sterile, size 7.5 (with at least 24 months expiration).	25	piece	1,900.00	47,500.00
MSMD-007	Curved Reinforced Endotracheal Tube, Oral/Nasal, Murphy Eye, High Volume, Low Pressure Cuff, sterile, size 8.0 (with at least 24 months expiration).	10	píece	1,900.00	47,500.00
MSMD-008	Curved Reinforced Endotracheal Tube, Oral/Nasal, Murphy Eye, High Volume, Low Pressure Cuff, sterile, size 8.5 (with at least 24 months expiration).	10	piece	1,900.00	19,000.00
MSMD-009	Laryngeal Mask Airway (LMA), sterile, single use, size 4 (with at least 24 months expiration).	20	piece	3,573.75	71,475.00
MSMD-010	Laryngeal Mask Airway (LMA), sterile, single use, size 5 (with at least 24 months expiration).	20	piece	3,573.75	71,475.00
MSMD-011	Tracheostomy tube cuffed fenestrated, size 6.0 (with at least 24 months expiration).	20	piece	4,066.00	81,320.00
MSMD-012	Tracheostomy Mask, ADULT (with at least 24 months expiration).	50	piece	388.00	19,400.00
MSMD-013	Spinal Anesthesia Needle, sterile, G. 20 x 3 1/2", must be sharp and sturdy (with atleast 24 months expiration).	100	plece	120.00	
MSMD-014	Spinal Anesthesia Needle, sterile, G. 22 x 3 1/2", must be sharp and sturdy (with atleast 24 months expiration).	100	piece		12,000.00
				120.00	12,000.00

"There is no Health without Mental Health"







ITEM CODE	ITEM DESCRIPTION	QUANTITY	UOM	UNIT PRICE	TOTAL PRICE
MSMD-015	Enema Set - Enema can aluminum stainless steel with douche tube and douche fitting set (stop cork, vaginal pipe and rectal pipe).	100	set	1,511.00	151,100.00
MSMD-016	Droplight / Medical Gooseneck Lamp - Adjustable height, Goose neck examination lamp is a multipurpose lamp attached to a flexible adjustable sgaft that can be positioned in various ways.  Stainless steel body, high quality	10	plece	3,228.00	32,280.00
MSMD-017	Anti Embolic Stockings Thigh High (Small) - For prevention of venous disease. Used for treatment after vein operation. Comfortable open-toe stockings	20	piece	1,600.00	32,000.00
MSMD-018	Anti Embolic Stockings Thigh High (Medium) - For prevention of venous disease. Used for treatment after vein operation. Comfortable open-toe stockings	20	piece	1,600.00	32,000.00
MSMD-019	Propan 2-ol, propan-1-ol, benzyl - C12-16- alkydimethylammonium chloride 1,000ml - Surgical and Hygienic Hand Disinfection Solution of medical grade with spray (with at least 24 months expiration	100	bottle	2,350.00	235,000.00
MSMD-020	Polypropylene monofilament, round 5-0, 17mm, 1/2c, 90cm (with at least 24 months expiration).	24	piece	560.00	13,440.00
MSMD-021	Balance salt solution 500ml	50	piece	900.00	45,000.00
MSMD-022	Carbachol Opthalmic Solution, 1mL	20	piece	250.00	5,000.00
MSMD-023	Corneal knife 2.75mm (6 pc/box)	100	piece	750.00	75,000.00
MSMD-024	Corneal Stab knife 15 degree (6 pc/box)	100	piece	750.00	75,000.00
MSMD-025	Crescent bevel up knife 2.3mm	10	piece	750.00	7,500.00
MSMD-026	Eye Pad Sterile, Constructed of absorbent cotton filler. Covered with soft non-woven fabric. Provides protection to the eye when required. Oval shape. Sterile packaging. 4 x 6 cm	100	piece	5.00	500.00
MSMD-027	Eye drape, sterile, halfbody with pouch	200	piece	330.00	66,000.00
MSMD-028	Silk Suture, Reverse Cutting, Size 6-0, Black, 18", Needle HE-7, ½ Circle (with atleast 24 months expiration).	12	piece	593.60	7,123.20
MSMD-029	Sodium Hyaluronate 3% Chondroitin sulfate 4% viscoellatic eye gel, 0.5mL	100	piece	3,000.00	300,000.00
MSMD-030	Sodium Hyaluronate 1.5% viscoellatic eye gel, 1mL	100	piece	2,000.00	200,000.00
MSMD-031	Tryphan blue ophthalmic solution, 1mL	50	piece	250.00	12,500.00
MSMD-032	Phacoemulsification basic pack (must be compatible with Stellaris Phaco machine)	25	pack	3,000.00	75,000.00
COVID SUPPLIE					
	Alcohol, Isopropyl 70% (3.785L/gallon) (with at least 24 months expiration).	1,000	gallon	500.50	500,500.00
	Gloves, Nitrile Examination, Disposable powder free, non sterile, ambidextrous, single use, size MEDIUM, with atleast 24 months expiration.	149,950	pair	10.00	1,499,500.00

ITEM CODE	ITEM DESCRIPTION	QUANTITY	UOM	UNIT PRICE	TOTAL PRICE
MEDICAL SUPI	PLIES ADDITIONAL				
MSMD-035	Blood Glucose Test Strips with Lancet, with Strip Ejector, for in vitro diagnostic use, no coding, individually foil wrapped strips, small blood sample required atleast (0.5µl), 5 second test time, 5 second blood sample reapplication time, top or end fill with visual confirmation, fill trigger ensures test starts only when sufficient blood sample has been applied. Must be compatible to existing Glucometer. (with at least 24 months expiration).	11,289	set	10.00	112,890.0
MSMD-036	Blood Transfusion Set, sterilized by EO gas, non-toxic, no heavy metal & pyrogen free w/ vein needle G.18, double chamber w/ large mesh filter minimizing platelet loss & hemolysis, flexible table, individualy packed into plastic pouch. (with at least 24 months expiration).	500	set	53.00	26,500.00
MSMD-037	Disposable ECG Electrodes, PEDIATRIC, 32-36x36-44mm (oval) snap connection, foam support 1mm thick, hypoallergenic medical grade adhesive, pregelled that is not sticky to skin and with silver chloride stainless steel stud and defibrillation resistant. (with at least 24 months expiration).	1,750	piece	34.00	59,500.00
MSMD-038	Endotracheal tube 7.5 high volume, low pressure, blue line design, very smooth murphy eye, very smooth edge to avoid trauma, with cuff, size markings of ET Tube in pilot balloon, non pyrogenic, Radio-Opaque (with at least 24 months expiration).	90	piece	67.00	6,030.00
MSMD-039	Gloves, 7.0 size, sterile, powder free, thick and elastic, not easily tore. (with at least 24 months expiration).	700	pair	33.00	23,100.00
MSMD-040	Infusion set, PEDIA, vented type (air cap) / 60 microdrops/mL/y-injection port/rubber/ 195cm length, with luer lock (with at least 24 months expiration).	354	piece	49.00	17,346.00
MSMD-041	KN95, 5 layer Respirator Mask, single, Individually pack, sterile, earloop type, with High Filtration Efficiency of ≥95%	44,802	piece	33.00	1,478,466.00
MSMD-042	Manual Resuscitator, ADULT with oxygen Reservoir bag, 2 Face Masks, 3 Guedel Airway and Oxygen Tubing, (Portable)	63	set	2,000.00	126,000.00
MSMD-043	Mayo Table Painted. Minimizing Wasted Space in the. Operating Room. Mobility and Convenience. Customizable Organization. Increased Operating Room Efficiency. Surgical. ErgonomicsCleanliness. Stability. Durability and Reliability	5	piece	2,500.00	12,500.00
MSMD-044	Nasal cannula for oxygen, ADULT, made from nontoxic PVC compound, 1.8 meters of non-kink star lumen PVC tubing, nasal prongs made of soft PVC (with at least 24 months expiration)	500	piece	28.00	14,000.00
MSMD-045	Nebulizing kit with mask, inhalation adult set, includes 1 mask, 1 medication chamber cup, 1 oxygen tube (with at least 24 months expiration).	552	piece	73.00	40,296.00
MSMD-046	Sharp Disposal Container, double lid, with hermetic lock seal, 30 Liters	50	piece	2,367.50	118,375.00

ITEM CODE	ITEM DESCRIPTION	QUANTITY	UOM	UNIT PRICE	TOTAL PRICE
MSMD-047	Straight Catheter, Fr.12, transparent, individually pack, sterilized by EO gas, non-toxic, non-pyrogenic (with at least 24 months expiration).	162	piece	29.00	4,698.00
MSMD-048	Straight Catheter, Fr.14, transparent, individually pack, sterilized by EO gas, non-toxic, non-pyrogenic (with at least 24 months expiration).	616	piece	29.00	17,864.00
MSMD-049	Suction catheter, Fr. 14 with control & cap, transparent, individually pack, sterilized by EO gas, non- toxic, non-heavy metal, non-pyrogenic (with at least 24 months expiration).	250	piece	20.00	5,000.00
MSMD-050	Suction catheter, Fr. 16 with control & cap, transparent, individually pack, sterilized by EO gas, non- toxic, non-heavy metal, non-pyrogenic (with at least 24 months expiration).	220	piece	20.00	4,400.00
MSMD-051	Suction catheter, Fr. 18 with control & cap, transparent, individually pack, sterilized by EO gas, non- toxic, non-heavy metal, non-pyrogenic (with at least 24 months expiration).	120	piece	20.00	2,400.00
MSMD-052	Syringe, Asepto, Irrigation Bulb 60cc, sterile, catheter tip, with plastic tip protector, allows one hand control, strong uniformly shaped barrel. (with atleast 24 months expiration).	504	piece	46.00	23,184.00
MSMD-053	Syringes, disposable, 30cc, with luer lock, sterilized by EO gas, non-toxic, non-heavy metal and pyrogen-free, no air-leakage, needle must be sharp and sturdy. (with at least 24 months expiration).	175	piece	32.00	5,600.00
MSMD-054	ECG Paper (Electrocardiograph Thermal Paper), 80mm x 20m	275	roll	110.00	30,250.00
MSMD-055	Transparent Dressing with absorbent pad, size: D: 3 1/2 x 6 (9cm x 15cm) P: 1 3/4 x 4 (4.5cm x 10cm), waterproof and impermeable to bacteria and virus, pad provides excellent absorbency, non-adheretn and absorbent contact layer to allow wound healing with less trauma and pain when dressing is removed, excellent adhesion balanced with gentleness to skin, no latex, reduces allergic possibility (with atleast 18 to 24 months expiration)	19	piece	200.00	3,800.00
MSMD-056	Transparent Dressing with absorbent pad, size: D: 3 1/2 x 8 (10cm x 20cm) P: 1 3/4 x 6 (4.5cm x 15cm), waterproof and impermeable to bacteria and virus, pad provides excellent absorbency, non-adheretn and absorbent contact layer to allow wound healing with less trauma and pain when dressing is removed, excellent adhesion balanced with gentleness to skin, no latex, reduces allergic possibility (with atleast 18 to 24 months expiration)	20	piece	250.00	5,000.00
MSMD-057	Transparent Dressing with absorbent pad, size: D: 3 1/2 x 10 (10cm x 25cm) P: 1 3/4 x 8 (4.5cm x 20cm), waterproof and impermeable to bacteria and virus, pad provides excellent absorbency, non-adheretn and absorbent contact layer to allow wound healing with less trauma and pain when dressing is removed, excellent adhesion balanced with gentleness to skin, no latex, reduces allergic possibility (with atleast 18 to 24 months expiration)	20	piece	300.00	6,000.00

ITEM CODE	ITEM DESCRIPTION	QUANTITY	UOM	UNIT PRICE	TOTAL PRICE
MSMD-058	Underpads Super Dry, 60x90cm, disposable. (with atleast 24 months expiration).	3,750	piece	35.00	131,250.00
MSMD-059	Urinal, plastic, for male, reusable, translucent, with lid, permits measuring ease and visualization contents	50	piece	60.00	3,000.00
MSMD-060	Zinc Oxide Adhesive Plaster, 3 inches, tan-coloured zinc oxide tape with spool and snap ring, 100% adhesive, Viscose tape with a high tensile strength. Strong, long-lasting adhesive with excellent initial grab. Water and dirt repellent for longer wear. The tape is is easy to tear and is permeable to both air and water vapour to prevent maceration. (with at least 24 months expiration).	12	roll	580.00	6,960.00
MSMD-061	Zinc Oxide Adhesive Plaster, 5 inches, tan-coloured zinc oxide tape with spool and snap ring, 100% adhesive, Viscose tape with a high tensile strength. Strong, long-lasting adhesive with excellent initial grab. Water and dirt repellent for longer wear. The tape is is easy to tear and is permeable to both air and water vapour to prevent maceration. (with at least 24 months expiration).	15	roll	683.00	10,245.00
MSMD-062	Anesthesia Set Flex, latex free, adult, breathing circuit with fitting mask - disposable anesthesia set consisting of 2 hose, connector, fastening ring 2 latex free breathing bag	50	piece	1,100.00	55,000.00
MSMD-063	Antiseptic surgical scrub solution. Non-ionic Surfactants, Has a pleasant perfume, and Tartrazine as colours. Easy to wash off. Can be used for neonates and thyroid patients. Not degraded due to bioburden. Effective in presence of blood, serious fluid, sweat etc. Non-staining and skin friendly. (5liters/gallon) (with at least 24 months expiration).	5	gallon	6,350.00	31,750.00
MSMD-064	Cigarette drain (Penrose drainage tubing) size 1/2" - Pure rubber latex, X-ray opaque, 18" length (with atleast 24 months expiration).	30	piece	66.00	1,980.00
MSMD-065	Cigarette drain (Penrose drainage tubing) size 1/4" - Pure rubber latex, X-ray opaque, 18" length (with atleast 24 months expiration).	30	piece	66.00	1,980.00
MSMD-066	Cigarette drain (Penrose drainage tubing) size 1" - Pure rubber latex, X-ray opaque, 18" length (with atleast 24 months expiration).	30	piece	66.00	1,980.00
MSMD-067	CO2 Absorber Lime Soda; Intersorb Plus Sodalime 5L Gallon, white to violet change. (with atleast 24 months expiration).	5	gallon	2,351.00	11,755.00
MSMD-068	High Level Disinfectant Solution Ortho- Phthalaldehyde, Ready-to-use for Medical Instruments, 6mins contact time, atleast 28days use- life. Atleast 5L/Gallon Contains: 0.55% Ortho- Phthalaldehyde active ingradients. Effective againts wide array of microorganisms. It kills vegetative bacteria,mycobacteria viruses and fungi. (with atleast 24 months expiration).	15	gallon	2,000.00	30,000.00
MSMD-069	PGA (Polyglycolic Acid/Polyglactin) braided, coated, braided synthetic absorbable, size 1, 70-90cm, round needle, 1/2 circle, 37mm / 40mm (with atleast 18 to 24 months expiration).	24	piece	466.00	11,184.00

ITEM CODE	ITEM DESCRIPTION	QUANTITY	UOM	UNIT PRICE	TOTAL PRICE
MSMD-070	PGA (Polyglycolic Acid/Polyglactin), braided coated, braided synthetic absorbable, size 2/0, 90cm, round needle, 1/2 circle, 36mm-40mm (with atleast 24 months expiration).	24	piece	480.00	11,520.00
MSMD-071	PGA (Polyglycolic Acid/Polyglactin), braided coated, braided synthetic absorbable, size 3/0, 75-90cm, round needle, 1/2 circle, 36mm-40mm (with atleast 24 months expiration).	60	piece	480.00	28,800.00
MSMD-072	PGA (Polyglycolic Acid) braided, coated, braided synthetic absorbable, size 4/0, 90cm, round needle, 1/2 circle, 37mm / 40mm (with atleast 24 months expiration).	36	piece	350.00	12,600.00
MSMD-073	Polypropylene knitted non-absorbable Mesh, undyed, 7.6cm x 15cm (with atleast 24 months expiration).	20	piece	2,332.00	46,640.00
MSMD-074	Silk braided, non absorbable, size 2/0, 60cm, 12-15 threads/strands, no needles (with atleast 24 months expiration).	120	piece	260.00	31,200.00
MSMD-075	Silk braided, non absorbable, size 3/0, 75cm, 12-15 threads/strands, no needles (with atleast 24 months expiration).	96	piece	264.00	25,344.00
MSMD-076	Silk braided, non asorbable, size 0, 75cm, cutting needle, 1/2 circle / 3/8 circle, 37mm (with atleast 24 months expiration).	36	piece	200.00	7,200.00
MSMD-077	Silk braided, non asorbable, size 1, 75cm, cutting needle, 1/2 circle / 3/8 circle, 37mm (with atleast 24 months expiration).	24	piece	250.00	6,000.00
MSMD-078	Silk braided, non absorbable, size 2/0, 75cm, cutting needle, 1/2 circle / 3/8 circle, 24mm / 26mm (with atleast 24 months expiration).	24	piece	220.00	5,280.00
MSMD-079	Silk braided, non absorbable, size 3/0, 75cm, round needle, 1/2 circle, 25mm- 37mm (with at least 24 months expiration).	36	piece	220.00	7,920.00
MSMD-080	Spinal Anesthesia Needle, sterile, G. 25 x 3 1/2", must be sharp and sturdy (with atleast 24 months expiration).	28	piece	110.00	3,080.00
MSMD-081	Surgical Scrub with Chlorhexidine and brushes(with atleast 24 months expiration).	50	piece	85.00	4,250.00
MSMD-082	Arterio-Venous Fistula (AVF) kit, inclusive of 4 sterile cherry balls, drape, 2 sterile gauze, antiseptic pads, and 3 10cc syringes with needle, with at least 24 months expiration	1,500	kit	165.00	247,500.00
MSMD-083	AED PADS - CPR-D-padz – CPR Electrodes for Automated External Defibrillators (Compatible with AED Plus ZOLL Resuscitation Systems) - Preconnected electrode with Real CPR Help feedback and See-Thru CPR. The one-piece design simplifies proper positioning on the chest. One size fits all, with the ability to expand for a larger chest. Application: Public Access – Non-clinical, EMS – Resuscitation. Five (5) year shelf-life from manufacturing date. To be used with Adults or Childresn 8 years and older or 25 kilos and heavier.	20	piece	23,000.00	460,000.00
MSMD-084	BP Velcro cuff, LATEX RUBBER TYPE OF BLADDER for PEDIA	70	piece	1,000.00	70,000.00

ITEM CODE	ITEM DESCRIPTION	QUANTITY	UOM	UNIT PRICE	TOTAL PRICE
MSMD-085	BP Velcro cuff, LATEX RUBBER TYPE OF BLADDER for ADULT	160	piece	500.00	80,000.00
MSMD-086	Catgut Chromic, Chromic natural absorbable, size 2/0, 75 cm, round taper point, 1/2 circle, 37mm (with atleast 24 months expiration).	36	piece	150.00	5,400.00
MSMD-087	Central Venous Pressure (CVP) Manometer Crystal clear manometer tube calibrated for accurate pressure readings and attached to a 3-way connector. Red floatation ball permits easy determination of meniscus level. With 3-way stopcock, 120cm long extension tubing, With 1" and 3/4" pole holder.	40	piece	1,100.00	44,000.00
MSMD-088	Clear Sterile Specimen bottle with rubber stopper, 10mL.	649	piece	17.00	11,033.00
MSMD-089	Extra Thin Patch Dressing 4x4inches/ 10x10cm, Thin flexible and versatile. Designed to reduce the risk of further skin breakdown due to friction. Can be used as a primary hydrocolloid dressing for dry to lightly exuding wounds.(with at least 24 months expiration).	50	piece	230.00	11,500.00
MSMD-090	Blood Pressure Latex Bulb With Air Release Valve Sphygmomanometer. Blood Pressure Monitor Manual Inflation Pump	200	piece	125.00	25,000.00
MSMD-091	Mask, surgical disposable, 3 PLY, Elastic without glass fibres, hypoallergenic, very low resistance to breathing, nose baradaptable, high filtration capacity, perfect fitting, EAR-LOOP	100,000	piece	9.00	900,000.00
MSMD-092	Foam Egg Mattress Size: 36x75x2.5" - has a convoluted shape which prevents and helps heal skin ulcers, eliminates bed sores, reduces pressure pains, allows air to flow and prevents your body from becoming too hot during sleep. Its peaks provide softness and comfort while its hollows provide passageway for air to pass through.	50	piece	1,420.00	71,000.00
MEDICAL DEVI	CES				
MSMD-093	Air Purifier with Mosquito Catcher, 40sq.m, Emits 7,000 ions/cm3, 5-step Mosquito Catching Mechanism, Glue Sheet, UV Light, On/Off Plasmacluster Mode, Built-in Dust & Odor Sensor, Inverter Operation, 3-steps Filtration (New Pre-Filter, Deodorizing Filter, Electrostatic HEPA FIlter)	146	unit	17,050.00	2,489,300.00
MSMD-094	Digital BP with Stand, Extra Large LCD Display. Ambient Temperature Display (C/F adjustable). Built-in buttin battery for keeping the date/time uninterruptedly during changing of batteries. IHB (irregular heart beat) Detector. Date/Time display. 2 users with 60 sets of memories each. Alarm clock reminding function. WHO blood pressure classification indicator. Provide Calibration Certificate for each unit and Warranty Certificate 1 (ONE) year for parts and services which include Preventive, Corrective Maintenance and Calibration from the date of delivery, inspection and acceptance Perform installation, demonstration for end-user and maintenance personnel before handover of the unit.	133	set	5,000.00	665,000.00

ITEM CODE	ITEM DESCRIPTION	QUANTITY	UOM	UNIT PRICE	TOTAL PRICE
MSMD-095	ECG Machine, digital and portable 3 channel; 12 lead EKG + electrode pad + lead wires orange; USB PC Software; with thermal printing system. For 80mm x 20m ECG Paper size. Provide User's Manual and Service Manual. Provide Calibration Certificate for each unit and Warranty Certificate 1 (ONE) year for parts and 2 (TWO) years for services which include Preventive, Corrective Maintenance and Calibration from the date of delivery, inspection and acceptance. Perform installation, demonstration/ training for enduser and maintenance personnel before handover of the unit.	11	unit	48,650.00	535,150.00
MSMD-096	Emergency Medical Trolley / Cart - size: 700x490x920mm (L*W*H*), 46kg. With Trolley body, Plastic-steel Columns, IV pole, Dust Basket, Utility Container, File Bag, Defibrillator Shelf, power outlet and hooks, Sliding Side Shelf, Stainless steel Guard Rail, Concave Top Covered Transparent Soft Plastic BAgs, Centralized Lock, Two (2) Small and Three (3) Big Drawer, Inner with partitions can be well organized, Drawers repositioned Easily, Luxurious Noiseless Castersinner with Partitions Can be well Organized, ABS Basket and Drawer Frame can be repositioned easily, Luxurious Whish Caster, two with brakes, CPR board, Oxygen Tank Holder, Needle Disposable Bottle.	15	unit	33,533.00	502,995.00
MSMD-097	Examining Bed – Hamilton Type, Stainless, Examination and treatment table, Hamilton Type, with drawer and compartment door, upholstered three section top, provided with stirrup and sliding foot stool. Size: 58 inc. x 20 inc. x 34 inc.	2	unit	22,380.00	44,760.00
MSMD-098	Fetal Doppler, Pocket type, high sensitive doppler probe, accurate FHR detection. Low ultrasound power, safe to the fetal. Optional display screen (value/diagram). Auto shut-off in 1 minute. Display 1.3 inches LCD. Ultrasound Frequency: 2.125MHZ-2.875MHZ. Comprehensive sensitivity: >90dB. FHR Range: 50/min~210/min. Display Resolution: 1bpm. FHR detection Dviation: -2/min~+2/min. Probe and doppler are seperated, more easier to operate. Rechargeable Battery, Charger included. Included Manual.Provide Calibration Certificate each unit. Warranty Certificate 1 (ONE) year for parts and services which include Preventive, Corrective Maintenance and Calibration from the date of delivery, inspection and acceptance Perform installation, demonstration for end-user and maintenance personnel before handover of the unit.	13	piece	6,000.00	78,000.00

ITEM CODE	ITEM DESCRIPTION	QUANTITY	UOM	UNIT PRICE	TOTAL PRICE
MSMD-099	IV Stand 4 Hooks Stainless - Heavy duty. Chrome plated steel tubing offers a round surface — no corners to collect dirt and grime, Well-balanced, stable no-tip cast aluminum base. Easy rolling wheel ball bearing nylon casters, Height range 52.5" — 94", Twist lock for easy height adjustment, 4 Hooks, 4 Wheels	148	unit	3,900.00	577,200.00
MSMD-100	Fiber-Optic McIntosh (Curved 5 blades) for ADULT Laryngoscope  LED Light Source  Complete matt type-w/5 S.S Blades Size (0,00,1,2,3) or (0,1,2,3,4) -w/ carrying case Laryngoscope Bulb  LED Light Source/Hallogen  Completely autoclavable  Can be assemble and disassemble for cleaning maintenance  Easy to assemble and disassemble for cleaning maintenance  Easy to detach bulb socket for ease of bulb replacement  The straight and curved blade are compatible to adult/pedia handle  Set of blades are customize - either straight/curved blade Battery  Type C BAttery use  Warranty Certificate 1 year for parts and services which include Preventive and Corrective Maintenance from the date of delivery, inspection and acceptance. Perform installation, demonstration/ training for enduser and maintenance personnel before handover of the unit.		piece	41,000.00	2,337,000.00

ITEM CODE	ITEM DESCRIPTION	QUANTITY	UOM	UNIT PRICE	TOTAL PRICE
MSMD-101	Fiber-Optic McIntosh (Curved 5 blades) for PEDIA Laryngoscope  LED Light Source  Complete matt type-w/5 S.S Blades Size (0,00,1,2,3) or (0,1,2,3,4) -w/ carrying case Laryngoscope Bulb  LED Light Source/Hallogen  Completely autoclavable  Can be assemble and disassemble  Easy to assemble and disassemble for cleaning maintenance  Easy to detach bulb socket for ease of bulb replacement  The straight and curved blade are compatible to adult/pedia handle  Set of blades are customize - either straight/curved blade Battery  Double A/ (AA) Battery use  Warranty Certificate 1 year for parts and services which include Preventive and Corrective Maintenance from the date of delivery, inspection and acceptance. Perform installation, demonstration/ training for enduser and maintenance personnel before handover of the unit.	4	set	41,000.00	164,000.00
MSMD-102	Medicine Cabinet, Glass sliding door, stainless, with cabinet locks, adjustable shelves, Dimension: W900 x D400 x H1850mm, 4 Mounted swivel rubber caster wheels.	20	unit	29,500.00	590,000.00
MSMD-103	Oxygen Tank Cart, (Single) Oxygen tank carriage double handle, Size: Fits 50 lbs Oxygen tank, Steel Painted or Stainless steel, 4 Wheels.	49	piece	6,500.00	318,500.00

ITEM CODE	ITEM DESCRIPTION	QUANTITY	UOM	UNIT PRICE	TOTAL PRICE
MSMD-104	STAND TYPE BP APPARATUS - PEDIATRIC. Height - 25 cm, Weight - 400 gm, Breadth - 25 cm, Length - 25 cm. Generously dimensioned scale (Ø 147.2 mm) and high-contrast scale layout for optimum readability; scale up to 300 mm Hg. Spacious basket on the reverse side for tubes and cuffs. Latex bulb to inflate the cuff. BP Velcro cuff, LATEX RUBBER TYPE OF BLADDER. Non-wearing air-release valve with fine adjustment. Micro-filter to protect the release valve and measurement system. Specially hardened copperberyllium membrane, which is resistantto aging, can withstand pressures of up to maximum 600 mm Hg Precision mechanism mounted on a special support, in order toensure complete stability of the measuring system and the zeropoint. No zero-point fixation required. Maximum error tolerance: ± 3 mm Hg Provide Calibration Certificate each unit and Warranty Certificate 1 (ONE) year for parts and services which include Preventive, Corrective Maintenance and Calibration from the date of delivery, inspection and acceptance. Perform installation, demonstration for end-user and maintenance personnel before handover of the unit.	30	set	12,800.00	384,000.00
MSMD-105	Patient Transport Bed, Ambulance Collapsible Stretcher Automatic Loading 181kg Aluminum alloy, Adjustable height With IV Stand. Made of light weight aluminum alloy. This Stretcher considering narrow spaces such as elevators, moving the stretcher after folding it. The loading height of the stretcher is 64cm. It is made of high-strength aluminum alloy materials, use-safety and easy for sterilization and clean. High Position: 195x57x87.5cm Low Position: 198x57x22cm Maximum Angle of the Back: 58 degrees Self-Weight: 35.13kg Loading Bearing: 181kg	32	unit	29,000.00	928,000.00
MSMD-106	Stretcher, Foldable, high strength AL-alloy material, Surface made of nylon mesh, Light weight, portable, easy to carry out and safety to use, Folded size: 110 x 18 x10 cm, Laid flat size: 220 x53 x14cm, Load capacity: 160 kg.	23	piece	2,800.00	64,400.00

ITEM CODE	ITEM DESCRIPTION	QUANTITY	UOM	UNIT PRICE	TOTAL PRICE
MSMD-107	Suction Machine Heavy Duty- multiple power supply, oil free lubrication pump; low noise; square negative pressure meter and plastic cover; negative pressure regulating system; power supply; Heavy duty monitor. Large Reservoir Bottle at 1000mL. Easy to use. Adjustable pressure at least negative 400mmHg. Provide Calibration Certificate for each unit and Warranty Certificate 1 (ONE) year for parts and 2 (TWO) years for services which include Preventive, Corrective Maintenance and Calibration from the date of delivery, inspection and acceptance. Perform installation, demonstration/ training for end-user and maintenance personnel before handover of the unit.	44	unit	29,950.00	1,317,800.00
MSMD-108	Thermal Scanner with Automatic Alcohol Dispenser, For Automatic Alcohol Dispenser: Infrared Detection, Motion Activated, Content: 700ml., Low battery Indication, Easy battery replacement (AA size), No wirring. For Infrared Thermal Scanner: Infrared Measurement, Distance Sensor, Speaker / Buzzer, Alarm Light, ON /OFF Button, Mode Button, Indicator, USB Port, Display,Response time: 0.5s, Infrared Measuring Range: 0°C – 40°C, Weight: 227g., Dimensions: 155 x 104 x 84mm, Stand, Infrared Thermal Scanner	114	piece	2,500.00	285,000.00
MSMD-109	Walker, Foldable. Anodized aluminum structure ensures maximum safety and strength while remaining lightweight, Two button push release is easy to extend/fold, Slip resistant rubber tips in the back with 5 inch wheels in the front provide maximum comfort while in use, Width 44cm Height adjusts from 32 inch to 39 inch in 1 inch increment to accommodate users with different needs.	50	piece	2,600.00	130,000.00
MSMD-110	Weighing Scale with Height and Weight Measurement, Heavy-duty solid stable platform. Superior Accuracy. Heavy duty understructure. Die cast beam, and aluminum on black insert. Easily read from either side. Factory assembled. All scales are tested with weights traceable to the National Institute of Standards and Technology (NIST). The die cast beam is dual reading and measures in BOTH pounds and kilograms. Capacity: 400 lb x 4 oz (180 kg x 100 g). Platform Size: 10-1/2 x 14-1/2 inches (267 x 368 mm). Height Rod: Measures 30-78 inches (76-198 cm). Scale height: 59 inches (1.5 m) Cartoon size: Height: 57" x Width: 19 1/2". Length: 5 1/2", 20kg Provide Calibration Certificate for each unit and Warranty Certificate 1 (ONE) year for parts and 2 (TWO) years for services which include Preventive, Corrective Maintenance and Calibration from the date of delivery, inspection and acceptance. Perform installation, demonstration/ training for end-user and maintenance personnel before handover of the unit.	36	piece	20,000.00	720,000.00

ITEM CODE	ITEM DESCRIPTION	QUANTITY	UOM	UNIT PRICE	TOTAL PRICE
MSMD-111	BATHROOM WEIGHING SCALE HEAVY DUTY - made with non-skid vinyl mat features white, baked enamel finish battery-free mechanised operation analogue. Capability: 150kg maximum 500g graduation, sturdy, big metallic non-slip podium, easy-to-read dial, used to monitor body weight. Dimension: 32cm x 17cm x 40cm Provide Calibration Certificate for each unit and Warranty Certificate 1 (ONE) year for parts and services which include Preventive, Corrective Maintenance and Calibration from the date of delivery, inspection and acceptance.	55	piece	2,600.00	143,000.00
MSMD-112	Wheelchair, 4 wheels, heavy duty (2 rear wheels and 2 front swivel castors), Seat and backrest providing sitting support for the wheelchair user, Foot supports. Armrests, Rear wheel locks (to park the wheelchair), Folding frame wheelchairs and buggies allow folding through cross-brace or other folding mechanism, Rigid frame wheelchairs and buggies must offer mechanism to fold and/or dismantle the device into smaller, separate components	51	piece	7,300.00	372,300.00
MSMD-113	ECG Trunk Cable with 3-lead wire. (must be compatible to <b>GE B125</b> Cardiac Monitor) Provide 1 (ONE) year warranty certificate from the date of delivery, inspection and acceptance.	10	piece	15,000.00	150,000.00
MSMD-114	SPO2 Cable Trusignal with SPO2 Sensor (must be compatible to GE B125 Cardiac Monitor) Provide 1 (ONE) year warranty certificate from the date of delivery, inspection and acceptance.	10	piece	12,000.00	120,000.00
MSMD-115	NIBP Cuff and hose for ADULT (must be compatible to GE B125 Cardiac Monitor) Provide 1 (ONE) year warranty certificate from the date of delivery, inspection and acceptance.	10	piece	11,000.00	110,000.00
MSMD-116	NIBP Cuff and hose for PEDIA (must be compatible to GE B125 Cardiac Monitor) Provide 1 (ONE) year warranty certificate from the date of delivery, inspection and acceptance.	10	piece	11,000.00	110,000.00
MSMD-117	Negatoscope (Double) - The Flourescent Illuminator provides a soft diffuse bluish white light found to be most satisfactory for film illumination. Made of ordinary metal with white paint or stainless steel. Negatoscope Double. High color temperature. Low power consumption.  Size: L:30 x W: 3" x H: 20" A device for reading x-rays — a negatoscope — greatly simplifies the work of a diagnostic physician and improves the accuracy of interpretation of an x-ray. A negatoscope is a parallelepiped made of a metal profile or durable plastic with a frontal plane (screen) of opaque white acrylic glass or plexiglass.	2	piece	7,850.00	15,700.00
MSMD-118	Needle Holder 14cm	5	piece	3,245.00	16,225.00
MSMD-119 MSMD-120	Needle Holder 16cm Needle Holder 18cm	5 5	piece	5,633.00	28,165.00
MSMD-121	Mixter Fine, Mixter Forceps, curved, 14cm	5 4	piece piece	3,830.00 9,650.00	19,150.00 38,600.00

ITEM CODE	ITEM DESCRIPTION	QUANTITY	UOM	UNIT PRICE	TOTAL PRICE
MSMD-122	Mixter Fine, Mixter Forceps, delicate, curved, 18cm	4	piece	7,883.00	31,532.00
MSMD-123	Skin Hook, Kilner Skin Hook, 1 prong, 15cm	7	piece	2,192.00	15,344.00
MSMD-124	Suction Metal Tip, AS Pool Suction tube, straight, with outer tube to be screwed off, 10,0,mm, TL 22cm	3	piece	3,900.00	11,700.00
MSMD-125	Long De Bakey 24cm, AS de Bakey Atrauma forceps, jaw 20 mm straight, 24cm	3	piece	16,600.00	49,800.00
MSMD-126	Long De Bakey, AS de Bakey Atrauma forceps, jaw 15 mm straight, 20cm	3	piece	10,455.00	31,365.00
MSMD-127	Big Kelly, AS Kelly-Rankin Forceps, straight, 16cm	3	piece	2,700.00	8,100.00
MSMD-128	Big Kelly, AS Kelly-Rankin Forceps, curved, 16cm	3	piece	3,200.00	9,600.00
MSMD-129	Big Kelly, AS Kelly Forceps, Fig. 1, curved, 19cm	3	piece	5,090.00	15,270.00
MSMD-130	Kidney Basin, Kidney Bowls 170x100x35mm	3	piece	1,705.00	5,115.00
MSMD-131	Kidney Basin, Kidney Bowls 250x140x40mm	3	piece	2,878.00	8,634.00
MSMD-132	Kidney Basin, Kidney Bowls 275x150x45mm	3	piece	2,380.00	7,140.00
MSMD-133	Bowls, AS Round Bowls, 150 x 75mm	3	piece	2,450.00	7,350.00
MSMD-134	Bowls, AS Round Bowls, 160 x 75mm	3	piece	2,615.00	7,845.00
MSMD-135	Mayo scissors, straight 19cm	5	piece	4,365.00	21,825.00
MSMD-136	Mayo scissors, straight 23cm	3	piece	4,970.00	14,910.00
MSMD-137	Mayo Scissors, curved 14cm	5	piece	2,685.00	13,425.00
MSMD-138	Mayo Scissors, curved 17cm	3	piece	4,110.00	12,330.00
MSMD-139	Mayo Scissors, curved 19cm	3	piece	4,410.00	13,230.00
MSMD-140	Mayo Scissors, curved 23cm	3	piece	4,995.00	14,985.00
MSMD-141	Mayo-Stille Scissors, straight, 15cm	3	piece	3,245.00	9,735.00
MSMD-142	Metzenbaum Scissors, Fig. 1, straight 13cm	3	piece	8,500.00	25,500.00
MSMD-143	Metzenbaum Scissors, Fig. 1, straight 14cm	5	piece	2,730.00	13,650.00
MSMD-144	Metzenbaum Scissors, Fig. 1, straight 18cm, SUPERCUT	3	piece	12,650.00	37,950.00
MSMD-145	Metzenbaum Scissors, Fig. 1, curved, 13cm	3	piece	3,245.00	9,735.00
MSMD-146	Metzenbaum Scissors, Fig. 1, curved, 14cm	5	piece	2,830.00	14,150.00
MSMD-147	Metzenbaum Scissors, Fig. 1, curved, 18cm	3	piece	3,840.00	11,520.00
MSMD-148	Metzenbaum Scissors, Fig. 1, curved, 23cm	3	piece	4,740.00	14,220.00
MSMD-149	Metzenbaum Scissors, Fig. 1, curved, 25cm	3	piece	5,930.00	17,790.00
MSMD-150	Metzenbaum Scissors, Fig. 1, curved, 28cm	3	piece	7,070.00	21,210.00
MSMD-151	Metzenbaum Scissors, Fig. 1, curved, delicate pattern, 14cm	3	piece	3,150.00	9,450.00
MSMD-152	Metzenbaum Scissors, Fig. 1, curved, delicate pattern, 20cm	3	piece	4,970.00	14,910.00
MSMD-153	Ochsner-Kocher Forceps 1:2, straight, 14cm	25	piece	2,500.00	62,500.00
MSMD-154	Ochsner-Kocher Forceps 1:2, straight, 16cm	25	piece	2,920.00	73,000.00
MSMD-155	Ochsner-Kocher Forceps 1:2, straight, 18cm	25	piece	4,512.50	112,812.50
MSMD-156	Ochsner-Kocher Forceps 1:2, curved, 16cm	25	piece	2,965.00	74,125.00
MSMD-157	Ochsner-Kocher Forceps 1:2, curved, 18cm	25	piece	3,410.00	85,250.00
MSMD-158	Ochsner-Kocher Forceps 1:2, curved, 22cm	25	piece	4,925.00	123,125.00
MSMD-159	Halsted-Mosquito Forceps, straight, 12.5cm	30	piece	2,170.00	65,100.00

ITEM CODE	ITEM DESCRIPTION	QUANTITY	UOM	UNIT PRICE	TOTAL PRICE
MSMD-160	Halsted-Mosquito Forceps, curved, 12.5cm	30	piece	2,240.00	67,200.00
MSMD-161	Micro-Mosquito Forceps, straight, 12.5cm	25	piece	3,060.00	76,500.00
MSMD-162	Micro-Mosquito Forceps, curved, 10cm	25	piece	3,252.00	81,300.00
MSMD-163	Micro-Mosquito Forceps, curved, 12.5cm	25	piece	3,080.00	77,000.00
MSMD-164	Blade Handle No.3, Scalpel Handle, Standard No. 3, 12cm	4	piece	1,320.00	5,280.00
MSMD-165	Blade Handle No.3, Scalpel Handle with scale	4	piece	1,310.00	5,240.00
MSMD-166	Blade Handle Long, Scalpel Handle, Standard No.4	2	piece	1,190.00	2,380.00
MSMD-167	Vaginal Retractor, Cusco Vaginal Specula, Fig.1, Standard, 75x32mm	2	piece	4,995.00	9,990.00
MSMD-168	Vaginal Retractor, Cusco Vaginal Specula, Swiss Model, Fig.2 100x25mm	2	piece	4,995.00	9,990.00
MSMD-169	Vaginal Retractor, Sims Vaginal Specula, Fig.2, 70x30mm / 70x35mm	2	piece	8,200.00	16,400.00
MSMD-170	Ronguer Pennybacker Bone ronguer, straight, 20.5cm	2	piece	27,875.00	55,750.00
MSMD-171	Bone Curette Volkmann Bone curette, 14cm, double	2	piece	3,900.00	7,800.00
MSMD-172	Gigli Saw, Gigli Wire saw, fine 500mm	2	piece	3,986.00	7,972.00
MSMD-173	Gigli Saw, Gigli Handle	2	piece	3,023.00	6,046.00
MSMD-174	Vein Retractor Cushing Nerve Hook, Fig.1, 19cm	5	piece	7,750.00	38,750.00
MSMD-175	Army Navy Retractor (1 pair) Size:8"	4	piece	4,150.00	16,600.00
MSMD-176	Adson Dressing Forcep with Teeth 4 3/4"	4	piece	666.75	2,667.00
MSMD-177	Allis Tissue Forceps 7.0"	10	piece	1,200.00	12,000.00
			23,418,205.70		

Submitted By:

ARIEL D. BERNARDO, MGM, RN

End-user, BAC for Medical Supplies

Recommending Approval:

ALDEN C. CUYOS, MINTPPA, IFAPA, MMHOA

Chairperson, BAC for Goods CY 2022

Approved By:

NOEL V. REYES, MD, FPPA, MMHoA

Medical Center Chief II